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• Hypermetropia is corrected by which lens? Convex Lens 

• One question related to Council of Ministers. 

• Who received playback female singer award in Filmfare Award 2017? Neha Bhasin 

• Who built Brihadeshwara temple at Tanjore? Raja Raja Chola I 

• Assam : Dispur :: Andhra Pradesh : ?? Amravati 

• One question related to Padma Vibhushan 2018. 

• Lcm of 15, 24 ,280? 840 

• Which Indian received the 1st Nobel Prize? Rabindra Nath Tagore 

• Who got the Filmfare Award for Best Female Playback Singer? Meghna Mishra 

• Who is the author of the Book "Cricket my style"? Kapil Dev 

• One question related to the Cardiac muscle cell. 

• Chemical Name of Calcium Oxide? 

• One questions related to Bhupen Hazarika awards. 

• Name the biggest city of Brazil? São Paulo 

• Black Rock Desert is situated in which country? US 

• Name of the mother of Gautam Buddha? Maya 

• Who is the Chief Election Commissioner of India? Om Prakash Rawat 

• Root of 0.6?  

• Which movie was awarded with National Film Award for Best Children's Film? 

Dhanak 

• राम, मीरा के इकलौते भाई की बहन की लड़की का बेटा है तो मीरा के पिता और राम 
का क्या संबंध होगा? 

• Y and Z are standing opposite to each other. If Y is facing south-west direction. 

Which direction is Z facing? North East 

• Who has been honored with the Personality of the year award at the International Film 

Festival of India? Amitabh Bachchan 

• Arrange Alkanes, Alkenes, and Alkynes in the decreasing order of carbon 

bonds?  The decreasing order of carbon bonds: Alkyne(CnH2n-2)(Triple bond 

between C and C) > Alkene(CnH2n) (Double bond between C and C) 

> Alkanes(CnH2n+2) (single bond between C and C) 

• ....... SI Unit is Volt? Voltage 

• Last Metalloid in the Periodic Table? 

• Saraswati Samman Award 2016 Winner? Mahabaleshwar Sail 

• COOH is a functional group of? A carboxyl group (COOH) is a functional group 

consisting of a carbonyl group(C=O) with a hydroxyl group (O-H) attached to the 

same carbon atom. 

• Chemical Name of Slaked Lime? Calcium Hydroxide, Ca(OH)₂ 

• After the nomination for the post of 14th President of India, Ram Nath Kovind 

resigned from his post as Governor of? Bihar 

• Prime Minister of China? Li Keqiang 

• Fastest supercomupter of India? Pratyush 

• Author of Panchtantra? Vishnu Sharma 

• (Cos 60 + sin 60) ÷ (cos60 - sin 60 ) = (root 3 +1) / (1- root 3) 

• What is the median of the first 50 whole numbers? 24.5 

• Which of these titles have been won by Manushi Chillar?  
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• Chair: Furniture: Shirt:: ? 

• Author of Raghuvansham? Kalidas 

• Which Lady of Jharkhand won the Women Transforming Award 2017? Jamuna 

Tudu 

• Who is the first turban Sikh women of Canada's supreme court? Parbinder Kaur 

Shergill 

• Annamayya the poet of medieval period belongs to which state? Andhra Pradesh 

• Shiv Shankar Prasad Chaurasia is related to which sport? Golf 

• In 55, Mr. A will be 12 times of his present age? Find his present age? 

• One question related to Padma Shri award.  

• Where will G20 economic summit 2018 be held? Argentina 

• Current Road & Transport minister of India? Nitin Gadkari 

• The sum of a number and its reciprocal is 12. Then what is the sum of cube of the 

same no. and it's reciprocal?  

• Who won french Tennis Tournament 2017 Men's singles? Rafael Nadal 

• Largest organ of the human body? Skin 

• Where is Aishwarya Oil Field located? Barmer, Rajasthan 

• Whichallotropep of carbon has the shape of the football? Buckminsterfullerene 

• Which atom has 6 hydrogen and 6 carbon atoms? Benzene 

• Who was the successor of Chandragupta Maurya? Bindusara 

• Who is the author of the book Mudrarakshasa? Vishakhadatta 

• One question related to viviparous. 

• One question related to Chess Championship 2017 

• In which district, the biggest Solar Power Plant in Uttar Pradesh jointly inaugurated 

by Emmanuel Macron and Prime Minister Narendra Modi? Mirzapur 

• A can complete a work in 10 days. B can complete the same work in 15 days. A and 

B start working together and A lefts after 5 days. In how much days does the B 

complete all the work? 2.5 Days 

• One question related to Alkali Metal in the periodic table. The alkali metals are a 

group (column) in the periodic table consisting of the chemical elements lithium (Li), 

sodium (Na), potassium (K), rubidium(Rb), caesium (Cs), and francium (Fr). 

• One question related to some invention by IIT. 

 

http://www.gradeup.com/
https://xu75j.app.goo.gl/6AvH

